Isaac Newton Primary School Vﬁ%

Addition Progression

We will teach number sentences such as 8+5=13 throughout the school

1. Using objects and fingers

v % %
@+0=@ —
% %% 89% 3 & mEn +7=8

2. Using number lines:

8+5=13 +1 +1 +1 +1 +1

I I I I I/VWW | |

3. Counting the tens and then the units
2%+ 45 =
-.- ::. :g or° 90%

4. Counting tens and units with jottings
eg.24+45 = 20+40=60

4+5=9
60 + 9 = 69
5. Vertical method 6 7 6 2 5
+ 2 2 + 5 3
8 9 6 7 8
6. Vertical method - crossing the barrier
7 8 3 367 3587
+ 4 2 + 8 b + 6 7 5
8 2 5 4 5 2 4 2 6 2
1 11 111

7. Adding time:

+1 hour +17mins . .
Please avoid columns as this leads to problems

and answers such as 8.75pm and 25.10.

9.23 10.23 10.40
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Subtraction Progression ;,gv
«S‘CHoo
We will teach number sentences such as 7-4=3 throughout the school
Using objects and fingers ‘g ! Three teddies hke]
away two teddies
‘ leaves one tedd
. 1 less - using objects if needed
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. Counting back on a number line
24 -7 =17
ENE N E S ES _ —L
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17 20 24
. Cross tens barrier by exchanging (using Dienes/ Place =31-7
wh

value counters)
m‘;'%;‘ I I

188 106 100 |0 0 v 9O
[ 1 ]

. Using a number line to count

back
47 - 23 =24
-3 -20
XN
24 27 47

. Using a number line to count on

102-89=13 +10

89 90 1%

Standard written methods - including crossing barriers

Ny 2 ™3 . 5
- 5 6 7 .2
1 6 5 6 . 3
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Multiplication Progression

We will teach number sentences such as 3x2=6 throughout the school
The times tables that should be known at each stage are in our maths progression
document

1. Count repeated groups of the same size —

s R

ey

1 2345 6 78910

2. Repeated addition

2+2+2+2+2 = 10 e ot

Leading to 5x2 =10 2 4 6 8 10

3. Understanding multiplication through arrays:

So 2x5 = 10 2 EHEhEhEh &
...?..

And 5x 2 = 10
4. Express multiplication on a number line as repeated addition:
5 5 5
F———1— 1 1 So 3x5 = 15
O 1 2 3 45 6 7 8 9 1011 12 13 1415
5. Using arrays to understand related multiplication facts:
EEmmmmmEm 9x4=36 4x9=36
EEEEEEEEE
EEEEEEEEE 36:4-9 36:9:-4
6. 6rid Methods (o | 30 | 5 x| 30 | s
7 210 35 20 | 600 | 100 | 400+ 100 =700
6 180 30 180 + 30 = 210
210 + 35 = 245 700 + 210 =910

7. Standard written methods - short and long multiplication

124 x 2
2741 X 6 becomes X 26 becomes

32 1 2
x_24 2 7 4 1 124

8 (4x2) y 6 x 26
120 (4 x 30) 7 4 4
40 (20x2) 16446 24 80
600 (20 x 30) v 3 2 2 4
768 Answer: 16 446 T 1

Answer: 3224



Division Progression

b+2=3

1. With objections - sharing @
oI | L.JI\'\
AT P AT "
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2. With objects - share into equal groups
How many 4's in 12

12+4=3

3. Grouping with remainders
How many 3'sin10? 10+ 3=3r1

- B A A DA B A A A

o Wy U U R W W I o R
4. Arrays
EEEEEEEEE
EEEEEEEEE |0-4-9 36-9-4
EEEEEEEEE
EEEEEERER
5. Number lines
24-4:=-6
0 4 8 12 "’ - N
6. Short division
0 35 137 rs o
5|1'7%5 7 92654 g ) 2 30°0°0
7. Long division: |
2 g4 2 8 r1i2 L s ’# z
5— .
SN s[4 3 2 s o0 |
3 0 0 15x20 30 0 2 0 |
1 3 2 3 Z
1 2 0 15x8 Lo
1 2 1 2 O ——
1 2 L 2 o
= 4
157 s 0



